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NEW QUESTION 1
What tool is used to perform a “what if” failure analysis in a service provider network that is running Segment Routing?

A. Cisco WAN Automation Engine
B. Cisco Evolved Programmable Network Manager
C. Cisco Network Services Orchestrator
D. Cisco Segment Routing Path Computation Element

Answer: A

NEW QUESTION 2

Refer to the exhibit. An engineer implements an automation with Cisco XTC. Which problem results in the 404 Not Found error code on the REST call?

A. The resource that you are trying to delete does not exist.
B. Port 8080 is not enabled on XTC.
C. XTC does not offer any APIs.
D. You must change the request method.

Answer: B

NEW QUESTION 3

Refer to the exhibit. XTC has been configured by an engineer. What does the IPv4 address represent on the snippet?

A. local address of the router on which it listens for PCEP
B. configured for the local peer for state synchronization
C. destination address of the router on which it listens for PCEP
D. configured for the remote peer for state synchronization

Answer: A

NEW QUESTION 4
What is a benefit of Ansible for automating IOS XE or IOS XR platforms?

A. Playbooks can be written in XML format.
B. It has agent support
C. It supports asynchronous orchestration.
D. It offers native orchestration support for Cisco platforms.

Answer: D

NEW QUESTION 5
When using Cisco YDK, which syntax configures the BGP ASN using OpenConfig BGP?

A. bgp.config.as_ = 65000
B. bgp.global_.config.as = 65000
C. bgp.global.config.as_ = 65000
D. bgp.global_.config.as_ = 65000
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Answer: D

NEW QUESTION 6

Refer to the exhibit. What must be added after the last line of the Ansible playbook to check if the output contains “IOS-XR”?

A. wait_for: result[1] contains “IOS-XR”
B. wait_for: result[0] contains IOS-XR
C. notify: “IOS-XR”
D. wait_for_connection:

Answer: B

NEW QUESTION 7
A user is debugging a problem with model-driven dial-in/out streams with gRPC for a Cisco IOS XR implementation. There is no streaming data and the path is not
resolved when the show telemetry model-driven subscription command is issued on the router. What is the cause of the problem?

A. The emsd process is not running.
B. There are polling interval problems.
C. SNMP is not enabled.
D. There is no support for IOS XR 64-bit.

Answer: A

NEW QUESTION 8
What are two fundamental design constraints of a RESTful API? (Choose two.)

A. It includes a series of interactions to the API that are dependent on one another.
B. It is dependent on the communication protocol being HTTP.
C. It exposes procedures or functions for a client call.
D. Each interaction is independent from all others on the server side.
E. It is a client-server communication model where the client and the server are independent of one another.

Answer: DE

NEW QUESTION 9
Refer to the exhibit. When YDK is used to interact with Cisco routers, what is the purpose of passing intf_f into the crud_service.read() method?

A. The Interfaces() class acts as a NETCONF filter, which limits the data returned to that of the openconfig:interfaces YANG model.
B. It provides the data types of the openconfig:interfaces model to the router for dynamic configuration of the interfaces.
C. It locks the interfaces from modification by other active NETCONF sessions.
D. It passes default values into the crud_service, which reconfigures all interfaces to their default configurations.
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Answer: D

NEW QUESTION 10
An engineer just completed the installation of Cisco NSO and all of its components. During testing, some of the services are not working properly. To resolve the
issue, the engineer started undeploying service instances. What can this cause?

A. It removes the service configuration from the network device only.
B. It removes the service configuration from the network and NSO.
C. It removes the service configuration from NSO only.
D. It runs the service code again when the device is out of sync.

Answer: B

NEW QUESTION 10
Which is a format used for the YANG JSON content-type header?

A. application/vnd/yang.data+json
B. application/vnd.yang.data+json
C. application/yang.data.json
D. application/vnd.yang.data json

Answer: B

NEW QUESTION 14
......

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 300-535 dumps
https://www.2passeasy.com/dumps/300-535/ (60 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual 300-535 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
300-535 Product From:

https://www.2passeasy.com/dumps/300-535/

Money Back Guarantee

 

300-535 Practice Exam Features:

* 300-535 Questions and Answers Updated Frequently

* 300-535 Practice Questions Verified by Expert Senior Certified Staff

* 300-535 Most Realistic Questions that Guarantee you a Pass on Your FirstTry

* 300-535 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Year

Powered by TCPDF (www.tcpdf.org)

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com

http://www.tcpdf.org

